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PR

INPUT TO FOKMAC PREPKRGCESSOR
PRGCEDURE GPTIONS(MAIND 3

INVS:

bt FX

FORMAC_OPTIONS
CHAR(T721 3
DCL KK{0:100) BIN
peL P{0:100) - BIN
DCL{LyKyNyg Je MM}

FIXED(31,01%
FIXEDI31,0)
BIN

-
I

.
*

/ %

CPARTIT:

START:
PUT PAGE;
SET All)=
GET LIST (NO)
D0 L=1 TC NU
GET LIST{ FX)
LET { a(mLm)=
CPRINT_OUTL A
END 3
DN K=2 TO NI
PUT SKIP{8);
LET ( SBKN = O
DO N=1 TO K-1
LET( SumM=0 )
MM= K=1+N 3
CALL PARTITI
LET( SBKN=
END;
LET (
ENU;
PUT SKIP14) ;
LET( B{"1lv) = 1
Do K=1 TG NC
PRINT_QUT( BI("K
END
G0 TD START ;
PRUCEDURE [ MM

B(HK!') =

UN ENCFILE(SYSINY GO

1/ FACLTL) */

.
3

.
’

!lf:xﬂ );

"Ly

MM N )

SBEKN +BKN )

SBKN ) 3

) 3

ity ) H

'NI3

DECLARE (Mg NyMM)
DECLARE {14J9SyJddsKJdyI1) BIN

M=MM;

KK(1)=1 3

DO I1=2 TO N 3

J=0 3

1=J ;

KK(I+1)=KK({I+1
IF 1=0 THEN GU

KK{T)=KK{I+1);

I=1-1 ;

If 1=0 THEN GO

GO TO L52 3

$=0 ;

DO 1=1 TO N 3
IF M=S THEN GO

IF M< S
IF M>S THEN GO

DO I=1 TG 50

DO JJ=1 TO N

CALL TERM{K,N

J=J+1;

GO TO LS6 ;

L23: J=0 ;

L56: IF J -= N

END PARTIT;

L51:

L52:

L53:

L22:

-s we we

)
L21:

THEN

KK{I)=2

)+13
TO L5335

TG L53;

S=S+KKI
T0 L22

THEN GO TO L21 3

TO L23
PLI)=0

KI=KK(JJI)3PIKII=PIKII+L 3

70 CLOUSE

BIN

3 END;

I)s; END;
5

3  END;

GO0 T4 LS1;

)

.
b4

FIXED

FIXED (31,0)

{31,0)

FIXED {31,0)

END 3
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TERM: PROCEDURE(K,N);

DECLARE (KyNyKN1) BIN FIXED{31,0)
DECLARE (L,PL,KL) = BIN  FIXED{31,0)
LET( U=1 )3 ‘ '
DO L=1 TU N ;

KL =KK{L);

LET(U =U%x A("KL")) ;
END;
DO L=1 TO 50 ;

PL =P(L) ;

IF PL <= 1 THEN GO TO SKIP ;

LET{U =U / FAC( "PL")) ;

SKIP:
END;
LET({ SUM=SUM +U );
KN1 = K+N-1 3
LET{BKN = FACI"KN1")} /FAC(WYK") *SUM);
IF {(N/2)%2 =N THEN GO TO CONTINUE ;3
LET{ BKN==-BKN) 3
CONTINUE:
END TERM;
CLOSE: CLOSE FILEUSYSPRINTY
END INVS;
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A{1C) = 1/362880C

X
J=e -1 = xc+ f/zg +o-+’C‘°/|o,’ o 1% 3¢

8{3) = 1/3

B{4) = - 1/4

B(5) = 1/5
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B(2) = 1/2

B(3) = 1/6

Bl4) = 1/24

B{83 = 1/4032C

B{9) = 1/362880
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A(l18) = 0

A{19) = - 1/19

A(2C) = ¢

Al21) = 1/21
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Bl{l1) =1
8(2) = 0
8(3) = 1/3
Bl4) = 0

——— v ——

B{S) = 2/15

s e vt o v

3
B{10) = 0O

B{11) = 13827155925

B{13) = 21844/6081075.

Bl(l4) = O

B{15) = 929569/638512875

B(16) 0
BI17) = 6404582/108547188175
B(18) = 0

BU19) = 443861162/1856156927625

B(20) = O

P .

B(21) = 18888466084/194896477400625
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